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DESIGN y STUDIO
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CANNOLI AND ENCORE MEGA
Brioche Cowl

Approximate Measurements:
32” circumference x 9” width

Materials:

Cannoli:

1—100G ball, color Purple/Green/Blue
Encore Mega:

1—100G balls, color 273 Teal

Gauge: 6 sts, 18 rows= 4" in Brioche
Stitch on US Size 15 (10mm) knitting
needle.

Needles/Notions: US Size 15 (10mm) —
24” circular needle, 1 st marker (m).

When working Brioche, each knit stitch
that you see counts as 2 rows.

Begin

With Encore Mega, long-tail CO 48 sts.
Join in the rnd and pm, being careful not
to twist sts. K 1 rnd.

Drop Encore Mega, leaving it to the back
of work. Join Cannoli.

Rnd 1: With Cannoli, *sl 1 yo (sl 1 yo=
lay the yarn under the needle to the front
of the work, sl the next st purlwise, then
lay the yarn back over the top of the
needle and over the sl st to the back), p1;
rep from * around. Drop Cannoli, leaving
it to the back of work.

Rnd 2: With Encore Mega, *k2tog (knit together the slipped stitch with its yarn over), sl 1 yo; rep from * around.
Drop Encore Mega, leaving it to the back of work.

Rnd 3: With Cannoli, *sl 1 yo, p2tog, (purl together the slipped stitch with its yarn over); rep from * around.
Drop Cannoli, leaving it to the back of work.

Rnd 4: With Encore Mega, *k2tog (knit together the slipped stitch with its yarn over), sl 1 yo; rep from * around.
Drop Encore Mega, leaving it to the back of work.

Rep Rnds 3 and 4 until you are almost out of Encore Mega, end having worked Rnd 3; you’ll want to leave enough
yarn to work 2 more rounds with Encore Mega. Cut Cannoli, leaving a 6” tail for weaving in.

Next Rnd: With Encore Mega, *K2tog, p1; rep from * around. BO all sts in knit on next rnd. Weave in all ends.
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ABBREVIATIONS: BO= bind off, CO= cast on, cont= continue, dec = decrease, inc = increase, k = knit, k2tog= knit two stitches
together, m=marker, p = purl, pm= place marker, rep= repeat, Rnd/rnd= round, SlI=slip, ssk = slip 1 st as if to knit, slip a second st
as if to knit, knit them together through the back loop, st(s) = stitch(es)



